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How the dog is going to behave
as the number of inputs N

Ef Inventory pirocesses every transaction in
every store in the USA

1 oooo ms to read the inventory
from the disk

10ms to process each transaction

n transactions
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Big 0h notation does not care
about the constant factor

Abstracted out algorithmic speed independentof the underlying architecture OS compiler
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Time is 01ns
does not mean our Igo is slow

Big Oh UPPER BOUND Ftw
cansay something is FAST
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Bigwig is usually used
to indicate dominating fastest growingJtern
Table of important Big oh sets

Tiniest
Function

y
C login log squared

y C rn root n Icenen
C n Linear Cnn
C Cnlogis Lgu
C ri uadratic WUseless
C 2n Exponential
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